Prerequisite Material Quiz Questions and Scores  Fall 2010
A.
Find an equation of the line that passes through the points  
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Scores:  8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 8, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 6, 5, 4, 4, 3, 3, 3, 3, 3, 3, 2, 2, 2, 2, 2, 1, 1, 1, 1, 1, 1, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

B.
Find the x-intercept(s) of the graph of  
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.    (8 pts.)

Scores:  8, 6, 6, 5, 4, 4, 4, 3, 3, 3, 2, 2, 2, 2, 1, 1, 1, 1, 1, 1, 1, 1, 1, 1, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0 , 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

C.
Given  
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1.
The graph of the quadratic function is a parabola.  Find the vertex of this parabola.    (6 pts.)
Scores:  6, 6, 2, 2, 2, 2, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0 , 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0

2.
Find the zeros (roots) of  f.    (6 pts.)

Scores:  6, 5, 4, 4, 4, 3, 3, 3, 2, 2, 2, 1, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0, 0
Total Scores for Quizzes A, B, and C (out of 28 pts.):  24, 20, 16, 15, 15, 12, 10, 10, 10, 10, 9, 9, 8, 8, 8, 7, 7, 7, 6, 6, 6, 6, 6, 6, 5, 5, 5, 5, 4, 4, 3, 3, 3, 2, 2, 2, 1, 1, 1, 1, 1, 0, 0, 0, 0

Percentages for Quizzes A, B, and C:  85.7, 71.4, 57.1, 53.6, 53.6, 42.9, 35.7, 35.7, 35.7, 35.7, 32.1, 32.1, 28.6, 28.6, 28.6, 25, 25, 25, 21.4, 21.4, 21.4, 21.4, 21.4, 21.4, 17.9, 17.9, 17.9, 17.9, 14.3, 14.3, 10.7, 10.7, 10.7, 7.1, 7.1, 7.1, 3.6, 3.6, 3.6, 3.6, 3.6, 0, 0, 0, 0
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